3 5 minwtes = 5060 smconds) = 3 seconds
100 seconds
+ 521 seconds
152 seconds

4 N cans
= i) cans
L cans

75
s 60 718
T
75

. See student work.

T 384 pages
48 pages
Mimmadg. 48 pages
48 pages
48 pages
Mira did . | | 48 pages
48 pages
|48 pages |
{ad 3 % 48 pages = 144 puges
3 4

1 _4_1
Mg+g~35~7 Wpws

----------

(30)
{a) Area of lurge reclangle = 30in, ¥ 2000
= G i’
Area of small reclangle = 12in. % 14in,
= léfint
Arcaof figure = 600in® — 168 in°
= 432in.}
ib) Perimeter = 18in. + I0in. + 3in

fin. + 12im + 14in
100 .

4

*

I,

12

13

6.

17

18

7 1 14
[I}EE ﬁ
0 .4 _ 5
T
4 6 _ 24
€5 % 3

(o) 2DREM15T ——
00,0006 ——> 3000

(b) 2086, 34137 — 2086342

Probability of stopping oq

20— oo|ta go|ta oo
P -

(a) 1
(b 4

{a} 1.2 cm
() 12 mum

Perimeter = 1.2em + lem + 1.2ecm
+ lem = 4dcm

The number 3.4 is about halfway between 3
and 4. Point & is too close (o 3 to represent
3.4, So the best choice ks polni .

. (o) AC {or CA)
by BC (or OB
{a) Area = m = I%em®
Geom - 6o
(b} Aren = -"m'.r""—m = 1§ em®

(c) Area = I8em’ + 18em’ = 36em!
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